@@xam@@@®@@ﬁ: ea@.g; e e

%A\\
= __/)I
O

| REV.1 2004.01.03

INPUT-CATPUT
& a ) g % & s N
@ e @ & @ ? @ ® DATA TRANSFER SWITCH &
— o \/'\
\ ". 19040.2
6 - -
® @ L@ . 9_97_4
[ 1] 1] ]
6007 LILIL LI AL L
HD1S F HD1S F | el ke IAPARAEN
(I/D} SWITCH AdeB&C&D
| | | IMIMFRPPRPRE
£ 2 2 i o i 0l o ot i
Yoo G dlbiAR ATl
14 14 14 [ 1] NEN
15 15 15
— SHIELD SHIELD . o .
06 F VDG F NOTE: Al relevant maoterials are complied with RoHS directive .
%l Q) A&B&CE&D PLASTO-VISCO-FLASTIC BODY 4| wea2
G 16 & SCREW 3*GPWB 4 W85
4 17 4 METAL CASE, THICKNESS 0.8mm 1set | M415
% }g 3: UL1061 26ANG INSULATOR, LENGTH 200mm 140 | W54
3 20 3 MAIN HEART 9-27—4 1 W94
5 7 5 SCREW 4*12.5mm WITH PAD 1set | W34
— SHIELD SHIELD KNOR FOR &, B, C, D, SWITCH 1 Wa4
6 F MDG F HEX—NUT WITH SCREW CAP 3*8mm TDset | W95
W AkH&CED HEX—NUT 4.75*13mm, SCREW CAP 4.75*1.5mm T0set | W94
27 6 MINI DING FEMALE, GOLD FLASH ON CONTACTS, BALCK INSULATOR 10 | M357
4 73 4 HDT5 FEWALE, GOLD FLASH ON CONTACTS, BLUE INSULATOR 5 W108
::.2 %g % DESCRIPTION QT |Suppliar
Cetle Length
: B : - e
ET
L SHIELD SHIELD N cablematic -
bt
Ref: & = | Wimn TIAN | ITEM ND. 6097 izl s



pcnou
Buy on cablematic


